Total 'nufnbér of printed pages—4
19 (Sem-ln) IPC 3-1
2016

INDIAN PENAL CODE
Papef .31
Full Marks : 80
Time : Thrée hours

‘The figures in the margin indicate
Sull marks fqr the questions.

Answer Q. Nos. 1 cv 2 and any five
from the rest.

1. Choose the correct az;sWelf : 1x10=10

" (@ Indian Penal Code was drafted by
: . (Maclaury/Stephen)

(b) Mens-rea has 1o place in . .
- (stat.“t(..ry offence/traditnonal crime)

(c) : Mistake of fact is excused under _sectlon
) //of the IPC, (78/79)
{d) Seditiqn ‘has been defined in section

' of IPC. (124A/ 125)

. Cdntd‘.



(e)

@

@

1]

2. - Write the following :
(@

ecology)

"sudden provocation

Affray is one of the offences against
. (Public tranquility/Social

Suicide ' an offence. (is/ is not)

Murder committed under grave and

treated as
murder. (is/is not)

There is no limit of pnvate defence
. (a false statement/ a true
statement) ‘

‘Robbery has been defined in section

(390/391) of IPC.

For commission of dacoity, there should -

be at least __ persons. (five/six)

Elements of criminal Liability

Crimtnal Conspiracy

Unlawful Assembly

Sexual assault’

Criminal misapprepriétign of Property.
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2x5=10 -

Discuss the salient feature of the Indlan
Penal Code. Whether it is general penal law
or special one. Answer. 10-ﬂ- =12

Or

Explain the difference between crime and
offence. What are the stages of crime.
Discuss them ? 4+8=12

What is insanity? Distinguish between
Medical insanity and legal insanity with a
explanatory note how far it is valid defence
in criminal liability. 4+8=12

‘Or

Write an exhaustive note on Criminal

"* Conspiracy. Refer at least two cases of

criminal conspiracy committed in society
during the beginmng of 21st century.
8+4=12

Enumerate, the oﬁ'ences agamst state with
case laws 12
: or
i .
Explain the offences against public
tranquility referring case laws. 12
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6. What is unlawful homicide ? Points out the "~

_difference between culpable homicide
amounting to murder-and culpable homicide

not amounting. to murder. 4+8=12
Or
| Write an essay on Defamation. 12

7. What are the offences listed in iPC a gainst

property. Discuss them briefly. - 12
' ' or
Distinguish between : - 6+6=12

() Dacoity and Robbery
(i) Theft and Extortion:
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